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DATA ANALYSIS
Group A

Answer any two from the following questions : 15%2=30
1. (a) Define Attribute and variable.

(b) Examine the characteristics noted below and state in each case whether it is an attribute

or a variate.

(1) Annual profit of a firm, (ii) Area of a house, (iii) Height of a person in inches,

(iv) Number of people in a locality, (v) Number of letters per word. 5+2%5




. Describe the different methods of collecting primary data and comment on their relative

advantages. 15
. (@) What is Histogram ? State the difference between Histogram and frequency polygon.

(b) What is Bar Chart ? Draw a Bar Chart and a Line diagram from the following data.

Year 1958 | 1968 (1978 [1988 | 1999

Number of tourists (in thousand) | 92 | 105 | 125 | 148 | 165

3+4+2+6

. (a) State the different measures of central tendency and define them. 15

(b) What are the different measures of dispersion ? Define Standard deviation. 8+7
Group B

Answer any one from the following questions : 10x1=10

. Write short notes on Skewness and Kurtosis of a frequency distribution. 10

. Define correlation coefficient and mention its properties. 10
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Or
ENTREPRENEURSHIP DEVELOPMENT

Group A
Answer any two from the following questions : 15%2=30
1. Discuss the role and importance of entrepreneurship in economic development. 15
2. Discuss in detail the problem of rural entrepreneurship in India. 15
3. What are the motivation theories ? Discuss Maslow’s Motivation Theory. 6+9

4. What do you understand by industrial sickness ? Discuss the symptoms, causes and

consequences of industrial sickness. 3+12

Group B
Answer any one from the following questions : 10x1=10

5. What do you understand by the term ‘entrepreneurship’ ? Give a brief outlilne of the growth
of entrepreneurship in India. 4+6

6. Describe in detail the Kakinara Experiment. 10
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Or

INSURANCE MARKET AND ITS PRODUCTS
Group A

Answer any two from the following questions : 15%2=30

1. What do you mean by insurance ? What are the different types of insurance ? How does

insurance work ? 3+6+6

2. Name the various insurance organizations in India ? Discuss the impact of privatization on the

performance of Indian Insurance Sector. 5+10
3. What are the basic principles of insurance ? Discuss each of them briefly. 619

4. What is reinsurance ? Explain the shopping reinsurance and facultative reinsurance methods.
3+12

Group B

Answer any one from the following questions : 10x1=10

5. What do you mean by Life Insurance and General Insurance ? Make a comparison between

the two. 6+4

6. What is insurance claim management ? Discuss the importance of claim management in

insurance sector. 2+8
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